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Oracle Autonomous Data Warehouse vs Vertica ocpu=1 ocPU=3 ocPu=8 r5a.large r5a.2xlarge r5a.8xlarge
2vCPU 16GiB 8vCPU 64GiB | 32vCPU 256GiB
1EH 1= 1EAB
No. HIV(FA— saL B B By B
i
1-1 ielect sum(uriage) 0.56 0.56 0.22 0.07
rom uriage
- select tokui_id, sum(uriage)
1-2 from uriage 0.52 0.84 0.29 0.12
group by tokui_id
T select tokui_id, sum(uriage)
_. from uriage
1= where uriage > 500000 0.34 0.60 0.21 0.15
group by tokui_id
T
select kigyo_group_id ,seikyu_id ,tokui_id ,sum(uriage)
1-4 from uriage 3.55 7137 229 1.62
group by kigyo_group_id ,seikyu_id tokui_id
= =
select kigyo_group_id ,seikyu_id ,tokui_id ,sum(uriage)
A from uriage
- where uriage > 500000 2.54 4.66 1.42 0.96
group by kigyo_group_id ,seikyu_id tokui_id
= —
select kigyo_group_id ,seikyu_id ,tokui_id ,sum(uriage)
_ from uriage
1-6 where uriage > 500000 and shain_id = 300 0.09 122 0.54 025
group by kigyo_group_id ,seikyu_id tokui_id
T
select kigyo_group_id ,seikyu_id ,tokui_id ,sum(uriage)
A from uriage
1-7 where uriage > 500000 and shain_id = 300 and kigyo_group_id = 30 0.05 059 0.15 013
group by kigyo_group_id ,seikyu_id tokui_id
M T select kigyo_group_name ,sum(uriage)
from uriage u
2-1 left outer join kigyo_group k on u.kigyo_group_id = k.kigyo_group_id 0.45 1.67 0.52 0.25
 I— group by kigyo_group_name
select kigyo_group_name ,sum(uriage)
M ‘\ T from uriage u
. left outer join kigyo_group k on u.kigyo_group_id = k.kigyo_group_id
22 where k kigyo_group_name = ' 2G00030’ 0.06 0.27 012 012
group by kigyo_group_name
- - select kigyo_group_name ,sum(uriage)
from uriage u
2-3 left outelfjom kigyo_group k «';r.|n u.kl_gyo,group,ld = k.kigyo_group_id 0.08 0.27 0.12 0.13
where k.kigyo_group_name like '%30%
group by kigyo_group_name
select kigyo_group_name , s.shain_name ,sum(uriage)
M T M from uriage u
a1 [ :eft outer join Kigyo_group k on_ukigyo_group.id = k kigyo_group.id 397 8.10 217 170
eft outer join shain s on u.shain_id = s.shain_id
e group by kigyo_group_name, s.shain_name
select kigyo_group_name , s.shain_name ,sum(uriage)
M T M from uriage u
left outer join kigyo_group k on u.kigyo_group_id = k.kigyo_group_id
3-2 left outer join shain s on u.shain_id = s.shain_id 0.13 0.38 0.15 0.13
where k kigyo_group_name = 'f 3G00030’
group by kigyo_group_name, s.shain_name
select kigyo_group_name , s.shain_name ,sum(uriage)
M T M from uriage u
left outer join kigyo_group k on u.kigyo_group_id = k.kigyo_group_id
3-3 left outer join shain s on u.shain_id = s.shain_id 0.08 0.30 0.13 0.15
where k kigyo_group_name = '1£3G00030' AND s.shain_name = '#1 & 400010’
group by kigyo_group_name, s.shain_name
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E‘I‘ 5ﬂ|] ﬁ}:ﬂh%_ % -1 1’:%:‘142 Oracle Autonomous Data Warehouse (1{&{) Vertica ( 181 )
Oracle Autonomous Data Warehouse vs Vertica ocpu=1 ocru=3 ocru=8 r5alarge r5a.2xlarge r5a.8xlarge
2vCPU 16GiB 8vCPU 64GiB | 32vCPU 256GiB
1EH 1= 1EAB
No. PED R s sQL R LR
T
_ select sum(uriage)
1-1 from uriage 11.51 7.96 2.29 3.41 1.1 0.44
N select tokui_id, sum(uriage)
1-2 from uriage 15.81 14.73 2.7 6.63 2.32 1.67
group by tokui_id
U select tokui_id, sum(uriage)
_. from uriage
1-3 where uriage > 500000 7.98 8.34 1.55 8.28 275 0.93
group by tokui_id
T
select kigyo group_id ,seikyu_id tokuiid ,sum(uriage)
1-4 from uriage 25.60 5.43 23.19 7.79 13.86 11.77
group by kigyo_group_id ,seikyu_id tokui_id
T
select kigyo_group_id ,seikyu_id tokuiid ,sum(uriage)
i from uriage
1-5 where uriage > 500000 13.48 14.10 12.53 35.97 9.90 5.89
o group by kigyo_group_id ,seikyu_id tokui_id
select kigyo_group_id ,seikyu_id tokuiid ,sum(uriage)
_ from uriage
1-6 where uriage > 500000 and shain_id = 300 8.03 1.01 035 11.95 3.90 1.65
o group by kigyo_group_id ,seikyu_id tokui_id
T
select kigyo_group_id ,seikyu_id tokuiid ,sum(uriage)
_ from uriage
-7 where uriage > 500000 and shain_id = 300 and kigyo_group_id = 30 453 0.96 028 8.15 2.90 1.12
o group by kigyo_group_id ,seikyu_id tokui_id
M T select kigyo_group_name ,sum(uriage)
from uriage u
2-1 left outer join kigyo_group k on u.kigyo_group.id = k kigyo_group_id 14.01 17.31 17.66 14.82 4.69 1.53
group by kigyo_group_name
select kigyo_group_name ,sum(uriage)
M, T from uriage u
_ left outer join kigyo_group k on u.kigyo_group_id = k kigyo_group_id
22 where kkigyo_group_name = "> 2£G00030’ 031 200 127 568 1.94 077
group by kigyo_group_name
select kigyo_group_name ,sum(uriage)
M T y
from uriage u
. left outer join kigyo_group k on u.kigyo_group_id = k.kigyo_group_id
23 where k kigyo_group_name like "%30%" 0.16 1.80 047 5.59 189 070
group by kigyo_group_name
select kigyo_group_name , s.shain_name ,sum(uriage)
™ = M from uriage u
_ — left outer join kigyo_group k on u.kigyo_group_id = k kigyo_group_id
31 left outer join shain s on u.shain_id = s.shain_id 35.63 36.62 3¢.12 64.00 17.47 9.67
— group by kigyo_group_name, s.shain_name
select kigyo_group_name , s.shain_name ,sum(uriage)
M T M from uriage u
left outer join kigyo_group k on u.kigyo_group_id = k.kigyo_group_id
3-2 left outer join shain s on u.shain_id = s.shain_id 3.52 2.07 0.63 9.34 2.79 0.99
where k kigyo_group_name = 'f 3G00030’
group by kigyo_group_name, s.shain_name
select kigyo_group_name , s.shain_name ,sum(uriage)
i from uriage u
left outer join kigyo_group k on u.kigyo_group_id = k kigyo_group_id
3-3 left outer join shain s on u.shain_id = s.shain_id 2.95 1.00 0.30 5.92 2.69 0.81
where k kigyo_group_name = 'f23G00030' AND s.shain_name = '#1 8400010’
group by kigyo_group_name, s.shain_name
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